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2) Mildred the cat is incomreet. § + 3 + i = i;, 50 the shaded fraction of box € is .
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Accept an answer that is supported by correct mathematical reasoning. For example, the first calculation could be the
odd one out as the answer is greater than I. The second calculation could be the odd one out because the answer can be

simplified.
2) Accept answers which show that Lola hasn’t ma}tiphed the numerators when she has found the common denominator of
s 7
40, The correct calculation Lola should have used is 22 g,, - %0 = 40
3) Accept answers that expfam that Marlon is correct. He has used 30 as the common denominator. 3., + ;o + ;: =% 3, . This
can then be simplified to 1 ro
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¢) Oscarls correct. The answer with the largest denominator is made by putting the

digit 7 as the denominator in the first fraction and the lowest common multiple of
7 and 12 is 84. (8 and @ both have lower common multiples with 12.)

1) Accept any col correct ada':tio» caJca!at:‘ans that Eotal 1% za:_ed include fractions with different denominators. For
examp!e,z+,2+,= l2;5+5+ ,g,:.'gand,,+,,+,,,=ig
2) Accept any correct subtraction caleulations that equal - For example, % - % and { -




